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  :    .  
 

1. (A)     . 14 

                   
       .  
 (B)      (  ) 4 

  (1)   ________     . (, ) 

  (2)    ________   .  (, ) 

  (3) ________      -   .  (, )  
  (4)          ________  .  
     (, ) 

  (5) _________        .  
     (-, -) 

  (6)   ________      .  (, ) 

 

2. (A) “    .”– .  14 

                 
  “     .” – . 
 (B)         : (  ) 4 

  (1)           .  
  (2)       .  
  (3)           .  
  (4)         .  
  (5)       .  
  (6)        .  
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3. (A)      ‘  ’  ‘   
  ’   .  14 

                   

         .  

 (B)         : (  ) 3 

  (1)         .  

  (2)           .  

  (3)        .  

  (4)          .  

  (5)        .  
 

4. (A)     . 14 

           

          .  

 (B)          (  ) 3 

  (1)   -     .  

  (2)          .  

  (3)      .  

  (4)          .  

  (5)      - -  
    .  

__________ 
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Instruction : All questions are compulsory.  

 
1. (A) Describe the common frustrations in our culture. 14 

                 OR 
  Discuss the common conflicts of our society. 

 (B) Fill in the blanks : (Any Four) 4 

  (1) Problems of ________ arise due to stress. (adjustment, environment) 

  (2) James Coleman has given ________ types of stress. (seven, three) 

  (3) There can be two causes of ________, internal and external. 

     (conflict, pressure) 

  (4) The lack of the ability to attain a goal is an ________ reason of frustration. 

     (inner, outer) 

  (5) In an _________ conflict, there are two attractive alternatives in front of the 
person. (approach-approach, avoidance-avoidance) 

  (6) Conflicts are classified on the basis of the nature of the ________. 

     (individual, alternatives) 

 

2. (A) Explain – “Stress patterns are unique”. 14 

               OR 
  Explain – “Stress pattern may be unconscious”. 

 (B) Write whether the following statements are true or false : (Any Four) 4 

  (1) A person can suffer from psychosomatic disorders due to prolonged stress. 

  (2) Adaptation to stress is expensive. 

  (3) There is no change in a person’s adaptive efficiency even in a severely 
stressful situation. 

  (4) In a severely stressful situation, a person’s attitude becomes rigid. 

  (5) The characteristics of the individual do not affect the severity of stress. 

  (6) Individual differences are seen in people’s stress tolerance. 
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3. (A) Discuss ‘Convergence of Sex Roles’ and ‘More permissive attitudes toward sex’ 
in the context of changing premarital patterns. 14 

                 OR 

  Explain the key factors affecting mate selection. 

 (B) Write whether the following statements are true or false : (Any Three) 3 

  (1) Today there are different standards to assess marital success as compared to 
earlier times. 

  (2) Satisfaction of sexual needs is an important reason for marriage. 

  (3) The needs for love and security are called psychological needs. 

  (4) Greater maladjustment has been seen in unmarried women than in 
unmarried men. 

  (5) Marital success can be predicted with extreme accuracy. 

 

4. (A) Describe the various marital styles. 14 

         OR 

  Discus the effect of personality factors on marital adjustment. 

 (B) Write whether the following statements are true or false : (Any Three) 3 

  (1) In a conflict habituated marriage the couple gets accustomed to the strain. 

  (2) The minimal-interaction marriage is considered a happy and successful one. 

  (3) A pattern of marital interactions can undergo a change. 

  (4) The couple’s family background has no effect on its marital adjustment. 

  (5) More non-verbal forms of communication are observed among couples in 
happy marriages than in unhappy marriages. 

__________ 


